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sinx) = 0

sinfix) < 0
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Lf(x) = [sgn(x)]
4.f(x) = x —[x]
7.f(x) =[x+ 1] + |x]

10.£(x) = |[x + 1] - 2
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2.f(x) = |x2=5x+6|] 3.f(x)=x+sgn(—x)
5.f(0) = VEsgn(V®)  6.£(x) = |5gn(x = 2)
8. f0) =9t D 9.f(x) = sgn(x? + 4)

11.f(x) = x[:r]x 12.f(x) = x%.sgn(x)
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- sin?(x) + cos?(x) = 1, sec?(x) —tan’(x) =1, csc?(x) —cot?(x) =1

- cos(—x) = cos(x), sin(—x) = —sinifx)

. cos(xty) = cos(x)cos(y) ¥ sin(x) sin(y),

sin(x £ y) = sin(x) cosify) + cos(x) sinify)
tan i )ttanidy)
1Ftan (x)tan iy ))

- sin(2x) = 2sin(x) cos(x), cos(2x) = cos?(x) — sin®(x)
. cos?(x) = %(l + cos(2x)), sin’(x) = %(l — cos(2x))

cot (x)cotify )F1
cot (y)Fcotidix)

tan(x ty) = cot(x +y) =

- sin(ax) cos(bx) = %[sin((a — b)x) +sin((a+ b) x)]
sin(ax) sin(bx) = % lcos((a—Db)x) —cos((a+ b) x)]

cos(ax) cos(bx) = % [cos((a —b) x) + cos((a+ b) x)]





